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SECTION - A 
(Long Answer Questions) 

Answer any two questions from this section in 
about 500 words each : 2x20=40 

1. Explain the meaning of National Capital. 
Describe its main components. How is it 
measured ? 

2. Discuss the concept of economic welfare. How 
good an indicator of economic welfare is per 
capita income ? 

3. Distinguish between market and non-market 
service. Describe how the services sector 
contribution to GDP is measured in India ? 

4. Discuss the estimation of national income using 
the production method and income distribution 
method. What consideration determine the choice 
between the two methods ? 

EEC-10 
	

1 	 P.T.O. 



SECTION - B 

(Medium - Length - Answer Questions) 	3x10=30 

Answer any three questions from this section. 
5. How is gross value added of manufacturing sector 

estimated in India ? 

6. What is the importance of services in economic 
development ? How is contribution of banking 
and insurance to national income estimated in 
India ? 

7. Discuss the main limitations of the flow - of - funds 
accounts. 

8. Discuss the main issues regarding the treatment 
of government activities in national income 
accounting. 

9. How is personal disposable income in India 
computed ? Explain each step involved in the 
computations. 
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SECTION - C 

(Short - Answer Questions) 

Answer all questions from this section as directed : 
5x2=10 

10. Define any five of the following : 

(a) Assets 

(b) Subsidies 

(c) Transfer payments 

(d) Factor Payments 

(e) Closed Economy 

(f) Incremental Capital - output ratio 

(g) Unorganised Sector 

11. Distinguish between any two of the following : 

(a) Capital and Investment 	 2x5=10 

(b) Current versus capital transfers 

(c) Net Capital transfer from abroad and net 
borrowing from abroad 

(d) Gross value added and gross trading 
income. 

12. State whether the following are true or false ? 

(a) The Human Development Index was 
formulated by the World Bank. 	2x5=10 
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(b) Food processing is an example of a primary 
sector activity. 

(c) Net value added at market prices is equal 
to gross value added at market prices minus 
consumption of fixed capital. 

(d) Saving plus consumption expenditure 
equals disposable income. 

(e) Maida (flour) used by a baker is an 
intermediate good. 
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1. ktTil 	3TO 	cqKseil 	I71:1k la-UT 3TTT-4I 

Tdr5i I 7170 ichki Achit TINT 	 t? 

2. 3iTrft cbc-eiM 	317NT7TT Wei I Aril oqicki airzr 

aufft ct.)1.1 i 1.)fli 3l-WT 717W t? 

3. Gilzilt 74 -4T elINTIR a 	a AzIT 3TW t? 	xl tichcl 

EltqTecig A-4R-)7 "Rfrgrff t rchki AchR 1:171T 	 

t? 

4. 	 fafq 	aT(zr fa -dm faiv Trzhrr gRI TfltzT, 

3l7F*317*-F9' . 	-417-4 I 	X1.1.-rqftp11t-  .11-01 
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5. 91R-ff raPiHiui 	* 	 TEe4 If-4 (gross value 
added) Wf 3 c 	i7 W11ftzfi AR11 ? 

6. allfft t-Cci 	 4'1 M-1.  '441' 1R 1T (importance) 
t? 9.T1-7 .14u31--zr 3Trzo4 	-cr -47r 4q**Krff 

311W-0i ft7 3M17 ftzri Acct 	 t? 

7. fiftT r i 	f 	 411 	WWI I 

8. Trtzt 3471 alr4431i if 71-wit Trf-dfisrftrO 	Arc4ig-1 
(treatment) -4 Tliff'41 .  315-4g 	WA I 

9. 1.M i d 	gremth .51*4 3.1174 (personal disposable 
income) 'A . 	"ft7131-WR .A' 	t? 	- Jlulii 

174 ` tui (step) ' .1" BETWIT Wr4R I 
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(a) 	 -cr4 rcir-1411 

(b) I 

(c) Me* 	j$1 zkll-muf 74' fake TZ 

DT I 

(d) tichci 4F-4-ff tc-q 74 *iebri 41r17MT aT711 
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12. Wei i 	.w2T9.  wet.  3N-41 geld I 	5x2=10 

(a) 1-1111 fq-*17 f9tTiW 	54-641q1 fay 	c gRI 

ft-4r Tim 

(b) 514 .F11 ,01 3144W 	4 1 	cl 

t I 
(c) -17:17 -ciT -T4 11- 1-r.z=m1 ,4R TL- 1 -crT 

174 lf-4- -ft:27 (IQer -a-cArr 
(d) W"- '72TT Z9•9431 al 	4 717174 3TPT* mtim( 	al t I 

(e) fa*-4.  tlzlITTA    31TZT 1:R7:Mt 'q't 
)c•iit? 
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